

Article

Generalized *q*-Stirling Numbers and Their Interpolation Functions

Hacer Ozden ^{1,*}, Ismail Naci Cangul ¹ and Yilmaz Simsek ²

- ¹ Faculty of Arts and Science, Department of Mathematics, Uludag University, TR-16059, Bursa, Turkey; E-Mail: cangul@uludag.edu.tr
- ² Faculty of Science, Department of Mathematics, University of Akdeniz, TR-07058, Antalya, Turkey;
 E-Mail: ysimsek@akdeniz.edu.tr

* Author to whom correspondence should be addressed; E-Mail: hozden@uludag.edu.tr

Received: 21 November 2012; in revised form: 28 January 2013 / Accepted: 31 January 2013 / Published: 8 February 2013

Abstract: In this paper, we define the generating functions for the generalized *q*-Stirling numbers of the second kind. By applying Mellin transform to these functions, we construct interpolation functions of these numbers at negative integers. We also derive some identities and relations related to *q*-Bernoulli numbers and polynomials and *q*-Stirling numbers of the second kind.

Keywords: q-Bernoulli numbers and polynomials; generalized q-Stirling numbers of the second kind; q-zeta function

Classification: MSC 11B68, 11B39, 11B73

1. Introduction, Definitions and Notations

q-Stirling numbers of the second kind were first defined by Carlitz [1]. After Carlitz's paper, many combinatorial papers have centered around the q-analogue, the earliest by Milne [2]; (among others) also see [3–20].

In [16], Simsek studied the generating functions of the fermionic and deformic Stirling numbers. By applying the derivative operator $\frac{d^n}{dt^n}|_{t=0}$ to these functions, he constructed interpolation functions of these numbers at negative integers.

Axioms 2013, 2

It is well known that the Stirling numbers of the second kind S(n,k) are defined by means of the generating function [16–21]:

$$F_S(t,k) = \frac{(-1)^k}{k!} (1-e^t)^k = \sum_{n=0}^{\infty} S(n,k) \frac{t^n}{n!}$$
(1)

It is also well known that the usual Stirling numbers of the second kind $S^{(\alpha)}(n,k)$ are defined by means of the generating function [16–21]:

$$F_{\alpha}(t,k) = \frac{(-1)^k}{k!} e^{\alpha t} (1-e^t)^k = \sum_{n=0}^{\infty} S^{(\alpha)}(n,k) \frac{t^n}{n!}$$
(2)

and

$$F_{\alpha}^{r}(t,k) = \frac{(-1)^{k}}{k!} e^{\alpha t} (1-e^{rt})^{k} = \sum_{n=0}^{\infty} S^{(\frac{\alpha}{r})}(n,k) \frac{t^{n}}{n!}$$
(3)

Let $q \in \mathbb{C}$ with |q| < 1. Some well known results related to the q-integers are given by (see for detail [1–28]):

$$[n,q] = [n] = \frac{1-q^n}{1-q}$$
$$[k+j] = [k] + q^k[j]$$
$$[kj] = [k][j,q^k]$$

and

$$[n]! = [n][n-1]...[2][1], [0]! = 1 \text{ and } \binom{n}{k}_q = \frac{[n]!}{[n-k]![k]!}$$

Note that $\lim_{q\to 1} [n] = n$, [1–28].

Generating functions of the q-Stirling numbers of the second kind were defined in [8]:

$$F_q(t) = q \binom{k}{2} \frac{1}{[k]!} \sum_{j=0}^k \binom{k}{j} (-1)^{k-j} q \binom{k-j}{2} \exp([j]t)$$

$$\tag{4}$$

and

$$[x]^{n} = \sum_{k=0}^{n} \binom{m}{n}_{q} [k]! q^{\binom{k}{2}} S_{2}(n,k,q)$$

By the above equation, we have [1,8]

$$S_2(n,k,q) = q^{-\binom{k}{2}} \frac{1}{[k]!} \sum_{j=0}^k (-1)^j q^{\binom{j}{2}} \binom{k}{j}_q [k-j]^n$$

2. New Generating Functions for q-Stirling Numbers of the Second Kind

Here, by using the same method of Simsek [16,18], we construct interpolation functions for the generalized q-Stirling numbers of the second kind. We shall define new functions to interpolate the second kind q-Stirling numbers. We define q-version of Equations (1) and (2) functions. Generalized q-Stirling numbers of the second kind are defined by means of the following generating functions:

$$F_{q,\alpha}(t,k) = \frac{1}{[k]!} \left(-\sum_{n=0}^{\infty} q^n \exp\left(\left[n - \frac{\alpha}{k}\right]t\right) \right)^{-k}$$

$$= \sum_{n=0}^{\infty} S^{(\alpha)}(n,k,q) \frac{t^n}{n!}$$
(5)

or

$$F_{q,\alpha}^{*}(t,k) = \frac{1}{[k]!} \sum_{j=0}^{k} (-1)^{k+j} \binom{k}{j} q^{k} e^{[\alpha+j]t}$$

$$= \sum_{n=0}^{\infty} \frac{1}{[k]!} \sum_{j=0}^{k} (-1)^{k+j} \binom{k}{j} q^{k} \frac{[\alpha+j]^{n} t^{n}}{n!}$$
(6)

and

$$F_{q,\alpha}^*(t) = \sum_{n=0}^{\infty} S^{(\alpha)}(n,k,q) \frac{t^n}{n!}$$

By comparing the coefficients of $\frac{t^n}{n!}$ on both sides of the above equations, we easily obtain that

$$S^{(\alpha)}(n,k,q) = \frac{1}{[k]!} \sum_{j=0}^{k} (-1)^{k+j} {\binom{k}{j}} q^{k} [\alpha+j]^{n}$$

= $\frac{(1-q)^{-n}}{[k]!} \sum_{j=0}^{k} \sum_{c=0}^{n} (-1)^{k+j+c} {\binom{k}{j}} {\binom{n}{c}} q^{k+(\alpha+j)c}$

Observe that when $q \rightarrow 1$, Equations (5) and (6) reduce to Equation (2). When $q \rightarrow 1$ in Equation (5), we have

$$\lim_{q \to 1} F_{q,\alpha}(t,k) = \frac{1}{k!} \left(-\sum_{n=0}^{\infty} q^n \exp\left(nt - \frac{\alpha}{k}t\right) \right)^{-k}$$
$$\sum_{n=0}^{\infty} S^{(\alpha)}(n,k) \frac{t^n}{n!} = \frac{(-1)^k}{k!} \left(e^t - 1\right)^k = \frac{(-1)^k \exp(\alpha t)}{k!} \sum_{y=0}^k \binom{k}{y} (-1)^y \exp(yt)$$
$$= \sum_{n=0}^{\infty} \left(\frac{(-1)^k \exp(\alpha t)}{k!} \sum_{y=0}^k \binom{k}{y} (-1)^y y^n \right) \frac{t^n}{n!}$$

Here we use the binomial expansion and the fact that

$$e^x = \sum_{n=0}^{\infty} \frac{x^n}{n!}$$

By comparing the coefficients of $\frac{t^n}{n!}$ on both sides of the above equations, we easily obtain that

$$S(n,k) = \frac{(-1)^k \exp(\alpha t)}{k!} \sum_{y=0}^k \binom{k}{y} (-1)^y y^n$$

We also see that

$$S^{(\alpha)}(n,k) = \frac{(-1)^k}{k!} \sum_{y=0}^k \binom{k}{y} (-1)^y (\alpha+y)^n$$

with recurrence relation in [21]

$$S^{(\alpha)}(n,k) = S^{(\alpha)}(n-1,k-1) + (k+\alpha)S^{(\alpha)}(n-1,k)$$

We also define the following generating function which is generalized Equation (6):

$$F_{q,\frac{\alpha}{r}}^{*}(t,k) = \frac{1}{[k]!} \sum_{j=0}^{k} (-1)^{k+j} {\binom{k}{j}} q^{k} e^{[\alpha+rj]t}$$

$$= \sum_{n=0}^{\infty} S^{(\frac{\alpha}{r})}(n,k,q) \frac{t^{n}}{n!}$$
(7)

By Equation (7), we obtain

$$S^{(\frac{\alpha}{r})}(n,k,q) = \frac{1}{[k]!} \sum_{j=0}^{k} \sum_{d=0}^{n} (-1)^{k+j} \binom{k}{j} \binom{n}{d} q^{k+d\alpha} [\alpha]^{n-d} [rj]^{d}$$

By using Pb. 189 in [24], we can write

$$S(n,k) = \frac{1}{k!} \left(k^n - \binom{k}{1} (k-1)^n + \binom{k}{2} (k-2)^n - \dots + (-1)^k 0^n \right), n \ge 1$$
(8)

We give the q-version of the above equation as follows

$$S(n,k,q) = \frac{1}{[k]!} \left([k]^n - \binom{k}{1}_q [k-1]^n + \binom{k}{2}_q [k-2]^n \dots + [-1]^k [0]^n \right)$$

3. Some Special Zeta Functions

Throughout this section, let $s \in \mathbb{C}$ with Res > 1. By using the same method of Simsek [16,18], we construct interpolation functions for the generalized *q*-Stirling numbers of the second kind. By applying the Mellin transform to Equation (4), we have

$$\begin{aligned} &\frac{1}{\Gamma(s)} \int_0^\infty t^{s-1} F_q(-t) dt \\ &= q \binom{k}{2} \frac{1}{[k]!} \sum_{j=0}^k \binom{k}{j} (-1)^{k-j} q \binom{k-j}{2} \frac{1}{\Gamma(s)} \int_0^\infty t^{s-1} \exp(-[j]t) dt \\ &= q \binom{k}{2} \frac{1}{[k]!} \sum_{j=0}^k \binom{k}{j} (-1)^{k-j} q \binom{k-j}{2} \frac{1}{[j]^{s-1}} \end{aligned}$$

Thus we define the following zeta function:

Definition 1 Let $s \in \mathbb{C}$ and $k \in \mathbb{Z}^+$, the set of positive integers.

$$z(s,k) = q \binom{k}{2} \frac{1}{[k]!} \sum_{j=0}^{k} \binom{k}{j} (-1)^{k-j} \binom{k-j}{2} \frac{1}{[j]^{s-1}}$$

By substituting s = 1 - n into above definition, we have

$$z_q(1-n,k) = q \binom{k}{2} \frac{1}{[k]!} \sum_{j=0}^k \binom{k}{j} (-1)^{k-j} q \binom{k-j}{2} [j]^n$$

Using the above relation, we arrive at the following result:

Theorem 1 Let *n* and *k* be positive integers. Then

$$z_q(1-n,k) = S(n,k,q)$$

By applying the Mellin transform to the Equation (2), we have

$$\frac{1}{\Gamma(s)} \int_0^\infty t^{s-1} F_\alpha(-t,k) dt = \frac{(-1)^k}{k!} \sum_{j=0}^k \binom{k}{j} \frac{(-1)^j}{(j+\alpha)^{s-1}}$$

So we have the following definition:

Definition 2 *Let* $s \in \mathbb{C}$ *and* $k \in \mathbb{Z}^+$ *.*

$$z^{\alpha}(s,k) = \frac{(-1)^k}{k!} \sum_{j=0}^k \binom{k}{j} \frac{(-1)^j}{(j+\alpha)^{s-1}}$$

Remark 1 If $\alpha = 0$ above, then we have

$$z^{0}(s,k) = \frac{(-1)^{k}}{k!} \sum_{j=0}^{k} \binom{k}{j} \frac{(-1)^{j}}{j^{s-1}}$$

For $s = 1 - n, n \in \mathbb{Z}^+$ above equation, we obtain

$$z^{\alpha}(1-n,k) = \frac{(-1)^{k}}{k!} \sum_{j=0}^{k} \binom{k}{j} \frac{(-1)^{j}}{(j+\alpha)^{-n}} = S^{(\alpha)}(n,k)$$

Therefore, we arrive at the following result:

Corollary 1 Let $n \in \mathbb{Z}^+$. Then we have

$$z^{\alpha}(1-n,k) = S^{(\alpha)}(n,k)$$

Remark 2

$$(e^{t}-1)^{k} = \sum_{j=0}^{k} \binom{k}{j} (-1)^{j} e^{jt}$$
$$= \sum_{n=0}^{\infty} \left(k^{n} \binom{k}{0} - \binom{k}{j} (k-1)^{n} + \dots + \binom{k}{k} (-1)^{k} (k-k)^{n}\right) \frac{t^{n}}{n!}$$

By using Equation (8), we have

$$(e^t - 1)^k = k! \sum_{n=0}^{\infty} z^0 (1 - n, k) \frac{t^n}{n!}$$

By applying the Mellin transform to Equations (6) and (7), we define the following functions, respectively:

$$\frac{1}{\Gamma(s)} \int_0^\infty t^{s-1} F_{q,\alpha}^*(-t,k) dt = z_q^\alpha(s,k)$$
$$\frac{1}{\Gamma(s)} \int_0^\infty t^{s-1} F_{q,\frac{\alpha}{r}}^*(-t,k) dt = z_q^{\frac{\alpha}{r}}(s,k)$$

The above functions interpolate the numbers $S^{(\alpha)}(n,k,q)$ and $S^{(\frac{\alpha}{r})}(n,k,q)$ at negative integers, respectively.

4. Relations between Bernoulli Numbers of Order k and Stirling Numbers of the Second Kind

Let

$$F_B(t) = \frac{t^k}{(e^t - 1)^k} = \sum_{n=0}^{\infty} B_n^{(k)} \frac{t^n}{n!}$$
(9)

where the coefficients $B_n^{(k)}$ are called Bernoulli numbers of order k [19,20,28]. By Equation (1), we have

$$F_S(t,k) = \frac{1}{k!} (e^t - 1)^k$$
(10)

By using Equations (9) and (10), relation between $F_B(t)$ and $F_S(t)$ is given by

$$F_B(t)F_S(t) = \frac{t^k}{k!}$$

By using the above relation, we have

$$\sum_{n=0}^{\infty} B_n^{(k)} \frac{t^n}{n!} \sum_{n=0}^{\infty} S(n,k) \frac{t^n}{n!} = \frac{t^k}{k!}$$

By using Cauchy product above, we get

$$\sum_{n=0}^{\infty} \sum_{j=0}^{n} B_j^{(k)} S(n-j,k) \frac{1}{k!} \frac{t^n}{(n-k)!} = \frac{t^k}{k!}$$

By comparing coefficients of t^k in both sides of the above equation, we arrive at the following theorem:

Axioms 2013, 2

Theorem 2 Let $n, k \in \mathbb{N}$. We have

$$n!k!\sum_{j=0}^{n} \binom{n}{j} B_j^{(k)}S(n-j,k) = \begin{cases} 1, \text{ if } n=k\\ 0, \text{ if } n\neq k \end{cases}$$

Remark 3 *The Barnes' type multiple Changhee q-Bernoulli polynomials are defined by means of the following generating function (see for details [28]):*

$$G_{q}^{(k)}(w,t \mid w_{1}, w_{2}, ..., w_{k})$$

$$= (-t)^{k} (\prod_{i=1}^{k} w_{i}) \sum_{n_{1}, n_{2}, ..., n_{k}=0}^{\infty} q^{w+n_{1}w_{1}+n_{2}w_{2}+...+n_{k}w_{k}} e^{[w+n_{1}w_{1}+n_{2}w_{2}+...+n_{k}w_{k}]t}$$

$$= \sum_{n=0}^{\infty} \frac{B_{n}^{(k)}(w:q \mid w_{1}, w_{2}, ..., w_{k})t^{n}}{n!} (\mid t \mid < 2\pi)$$
(11)

with as usual,

$$\sum_{n_1, n_2, \dots, n_k=0}^{\infty} = \sum_{n_1=0}^{\infty} \sum_{n_2=0}^{\infty} \dots \sum_{n_k=0}^{\infty}$$

It follows from Equation (11) that

$$\lim_{q \to 1} G_q^{(k)}(w, t \mid w_1, w_2, ..., w_k) = \frac{e^{tw}(tw_1)(tw_2)...(tw_k)}{(e^{tw_1} - 1)(e^{tw_2} - 1)...(e^{tw_k} - 1)}$$
(12)

This gives the generating function of Barnes' type multiple Bernoulli numbers. Thus we get the following limit relationship:

$$\lim_{q \to 1} B_n^{(k)}(w : q \mid w_1, w_2, ..., w_k) = B_n^{(k)}(w \mid w_1, w_2, ..., w_k)$$

This gives the Barnes' type multiple Bernoulli numbers as a limit when q approaches 1.

If w = 0 and $w_1 = w_2 = w_k = 1$ in Equation (12), we have

$$\lim_{q \to 1} G_q^{(k)}(0,t \mid 1, 1, ..., 1) = \frac{t^k}{(e^t - 1)^k} = \sum_{n=0}^{\infty} B_n^{(k)} \frac{t^n}{n!}$$

Using Equation (12), we define

$$F_B^{(n)}(t \mid w_1, w_2, ..., w_k) = \frac{t^{kn} (w_1 w_2 ... w_k)^n}{(e^{tw_1} - 1)^n (e^{tw_2} - 1)^n ... (e^{tw_k} - 1)^n}$$

$$= \sum_{n=0}^{\infty} B_n^{(k,n)}(0 \mid w_1, w_2, ..., w_k) \frac{t^n}{n!}$$
(13)

Observe that when $n = 1, B_n^{(k,n)}(0 | w_1, w_2, ..., w_k)$ reduces to $B_n^{(k)}(0 | w_1, w_2, ..., w_k)$. We define

$$F_{S}^{(n)}(t \mid w_{1}, w_{2}, ..., w_{k}) = \left(\frac{1}{k!}\right)^{n} (e^{tw_{1}} - 1)^{n} (e^{tw_{2}} - 1)^{n} ... (e^{tw_{k}} - 1)^{n}$$

$$= \sum_{n=0}^{\infty} Y^{(n)}(n, k \mid w_{1}, w_{2}, ..., w_{k}) \frac{t^{n}}{n!}$$
(14)

By Equations (13) and (14), we have

$$\left(\frac{k!}{w_1w_2...w_k}\right)^n F_S^{(n)}(t \mid w_1, w_2, ..., w_k) F_B^{(n)}(t \mid w_1, w_2, ..., w_k) = t^{kn}$$

By using the above equation, we have

$$\left(\frac{k!}{w_1w_2...w_k}\right)^n \sum_{m=0}^{\infty} Y^{(n)}(m,k \mid w_1, w_2, ..., w_k) \frac{t^m}{m!} \sum_{m=0}^{\infty} B_m^{(k,n)}(0 \mid w_1, w_2, ..., w_k) \frac{t^m}{m!} = t^{kn} \sum_{m=0}^{\infty} E_m^{(k,n)}(0 \mid w_1, w_2, ..., w_k) \frac{t^m}{m!} = t^{kn} \sum_{m=0}^{\infty} E_m^{(k,n)}(0 \mid w_1, w_2, ..., w_k) \frac{t^m}{m!} = t^{kn} \sum_{m=0}^{\infty} E_m^{(k,n)}(0 \mid w_1, w_2, ..., w_k) \frac{t^m}{m!} = t^{kn} \sum_{m=0}^{\infty} E_m^{(k,n)}(0 \mid w_1, w_2, ..., w_k) \frac{t^m}{m!} = t^{kn} \sum_{m=0}^{\infty} E_m^{(k,n)}(0 \mid w_1, w_2, ..., w_k) \frac{t^m}{m!} = t^{kn} \sum_{m=0}^{\infty} E_m^{(k,n)}(0 \mid w_1, w_2, ..., w_k) \frac{t^m}{m!} = t^{kn} \sum_{m=0}^{\infty} E_m^{(k,n)}(0 \mid w_1, w_2, ..., w_k) \frac{t^m}{m!} = t^{kn} \sum_{m=0}^{\infty} E_m^{(k,n)}(0 \mid w_1, w_2, ..., w_k) \frac{t^m}{m!} = t^{kn} \sum_{m=0}^{\infty} E_m^{(k,n)}(0 \mid w_1, w_2, ..., w_k) \frac{t^m}{m!} = t^{kn} \sum_{m=0}^{\infty} E_m^{(k,n)}(0 \mid w_1, w_2, ..., w_k) \frac{t^m}{m!} = t^{kn} \sum_{m=0}^{\infty} E_m^{(k,n)}(0 \mid w_1, w_2, ..., w_k) \frac{t^m}{m!} = t^{kn} \sum_{m=0}^{\infty} E_m^{(k,n)}(0 \mid w_1, w_2, ..., w_k) \frac{t^m}{m!} = t^{kn} \sum_{m=0}^{\infty} E_m^{(k,n)}(0 \mid w_1, w_2, ..., w_k) \frac{t^m}{m!} = t^{kn} \sum_{m=0}^{\infty} E_m^{(k,n)}(0 \mid w_1, w_2, ..., w_k) \frac{t^m}{m!} = t^{kn} \sum_{m=0}^{\infty} E_m^{(k,n)}(0 \mid w_1, w_2, ..., w_k) \frac{t^m}{m!} = t^{kn} \sum_{m=0}^{\infty} E_m^{(k,n)}(0 \mid w_1, w_2, ..., w_k) \frac{t^m}{m!} = t^{kn} \sum_{m=0}^{\infty} E_m^{(k,n)}(0 \mid w_1, w_2, ..., w_k) \frac{t^m}{m!} = t^{kn} \sum_{m=0}^{\infty} E_m^{(k,n)}(0 \mid w_1, w_2, ..., w_k) \frac{t^m}{m!} = t^{kn} \sum_{m=0}^{\infty} E_m^{(k,n)}(0 \mid w_1, w_2, ..., w_k) \frac{t^m}{m!} = t^{kn} \sum_{m=0}^{\infty} E_m^{(k,n)}(0 \mid w_1, w_2, ..., w_k) \frac{t^m}{m!} = t^{kn} \sum_{m=0}^{\infty} E_m^{(k,n)}(0 \mid w_1, w_2, ..., w_k) \frac{t^m}{m!} = t^{kn} \sum_{m=0}^{\infty} E_m^{(k,n)}(0 \mid w_1, w_2, ..., w_k) \frac{t^m}{m!} = t^{kn} \sum_{m=0}^{\infty} E_m^{(k,n)}(0 \mid w_1, w_2, ..., w_k) \frac{t^m}{m!} = t^{kn} \sum_{m=0}^{\infty} E_m^{(k,n)}(0 \mid w_1, w_2, ..., w_k) \frac{t^m}{m!} = t^{kn} \sum_{m=0}^{\infty} E_m^{(k,n)}(0 \mid w_1, w_2, ..., w_k) \frac{t^m}{m!} = t^{kn} \sum_{m=0}^{\infty} E_m^{(k,n)}(0 \mid w_1, w_2, ..., w_k) \frac{t^m}{m!} = t^{kn} \sum_{m=0}^{\infty} E_m^{(k,n)}(0 \mid w_1, w_2, ..., w_k) \frac{t^m}{m!} = t^{kn} \sum_{m=0}^{\infty} E_m^{(k,n)}(0 \mid w_1, w_2, ..., w_k) \frac{t^m}{m!$$

By applying the Cauchy product to the above, we arrive at the following theorem, which is the generalized form of Theorem 2:

Theorem 3 Let $n, k \in \mathbb{N}$. We have

$$m! (\frac{k!}{w_1 w_2 \dots w_k})^n \sum_{j=0}^m \binom{m}{j} B_n^{(k,n)} (0 \mid w_1, w_2, \dots, w_k) Y^{(n)} (m-j,k \mid w_1, w_2, \dots, w_k)$$
$$= \begin{cases} 1, & \text{if } m = nk \\ 0, & \text{if } m \neq nk \end{cases}$$

Observe that

$$F_S^{(1)}(t \mid 1, 1, ..., 1) = \sum_{n=0}^{\infty} Y^{(1)}(n, k \mid 1, 1, ..., 1) \frac{t^n}{n!}$$
$$= \frac{1}{k!} (e^t - 1)^k$$
$$= \sum_{n=0}^{\infty} S(n, k) \frac{t^n}{n!}$$

Thus we have

$$Y^{(1)}(n,k \mid 1,1,...,1) = S(n,k)$$

5. Conclusions

q-Stirling numbers of the second kind arise in many different generating functions for various statistical partitions. The theory of q-Stirling numbers is enriched by combinatorial interpretations. By using these numbers, one can investigate orthogonality relations, recurrences, explicit expressions, and generating functions for the generalized (q-) Stirling numbers. Recently, many authors have generalized the Stirling numbers by differential operators. The Stirling numbers are related to Newton's interpolation, (q-) Lah numbers, exponential generating functions, q-calculus and related topics, combinatorial enumeration problems, Binomial coefficients and Bell numbers.

Acknowledgements

This paper was supported by the Scientific Research Project Administration of Akdeniz University and by the Scientific Research Fund of Uludag University, Project numbers F-2012/16 and F-2012/19.

We would like to thank to referees for their valuable comments and many references to suggest for adding this present papers.

References

- 1. Carlitz, L. q-Bernoulli numbers and polynomials. Duke Math. 1948, 15, 987–1000.
- 2. Milne, S.C. A *q*-analog of restricted growth functions, Dobinski's equality, and Charlier polynomials. *Trans. Amer. Math. Soc.* **1978**, *245*, 89–118.
- 3. Ehrenborg, R. Determinants involving q-Stirling numbers. Advan. Appl. Math. 2003, 31, 630–642.
- 4. Ernst, T. A Comprehensive Treatment of q-Calculus; Birkhauser/Springer: Basel, Switzerland, 2012.
- 5. Gould, H.W. The q-Stirling numbers of first and second kinds. Duke Math. J. 1961, 28, 281–289.
- 6. Hsu, L.C.; Shiue, P.J.-S. A unified approach to generalized Stirling numbers. *Adv. Appl. Math.* **1998**, *20*, 366–384.
- 7. Katriel, J. Stirling numbers identity: Interconsistency of *q*-analogues. J. Phys. **1998**, 31, 3559–3672.
- 8. Kim, T. q-Volkenborn integration. Russ. J. Math. Phys. 2002, 19, 288–299.
- 9. Kim, T. q-Bernoulli numbers and polynomials associated with Gaussian binomial coefficients. *Russ. J. Math. Phys.* **2008**, *15*, 51–57.
- 10. Kwasniewski, A.K. q-Poisson, q-Dobinski, q-Rota and q-coherent states-a second fortieth anniversary memoir. *Proc. Jangjeon Math. Soc.* **2004**, *7*, 95–98.
- 11. Kwasniewski, A.K. On psi-umbral extension of Stirling numbers and Dobinski-like formulas. *Advan. Stud. Contemp. Math.* **2006**, *12*, 73–100.
- 12. Mansour, T.; Schork, M.; Shattuck, M. On a new family of generalized Stirling and Bell numbers. *Electron. J. Comb.* **2011**, *18*, 1–33.
- Mansour, T.; Schork, M.; Shattuck, M. The generalized Stirling and Bell numbers revisited. J. Integer Seq. 2012, 15, 1–47.
- 14. Mansour, T.; Schork, M.; Shattuck, M. On the Stirling numbers associated with the meromorphic Weyl algebra. *Appl. Math. Lett.* **2012**, *25*, 1767–1771.
- 15. Ryoo, C.S.; Kim, T. A new identities on the *q*-Bernoulli numbers and polynomials. *Adv. Stud. Contemp. Math.* **2011**, *21*, 161–169.
- 16. Simsek, Y. On q-Deformed Stirling numbers. Int. J. Math. Comput. 2012, 15, 70-80.
- Simsek, Y. Generating functions for generalized Stirling type numbers, Array type polynomials, Eulerian type polynomials and their application. 2011, arxiv:1111.3848v2. Available online: http://arxiv.org/abs/1111.3848 (accessed on 5 February 2013).
- 18. Simsek, Y. Interpolation Function of Generalized q-Bernstein Type Polynomials and Their Application, Curve and Surface; Springer Verlag: Berlin/Heidelberg, Germany, 2011, pp. 647–662.
- 19. Srivastava, H.M. Some generalizations and basic (or *q*-) extensions of the Bernoulli, Euler and Genocchi polynomials. *Appl. Math. Inform. Sci.* **2011**, *5*, 390–444.
- 20. Srivastava, H.M.; Choi, J. Zeta and q-Zeta Functions and Associated Series and Integrals; Elsevier Science Publishers: Amsterdam, The Netherlands; London, UK; New York, NY, USA, 2012.

- 21. Cakic, M.P.; Milovanovic, G.V. On generalized Stirling numbers and polynomials. *Math. Balk.* **2004**, *18*, 241–248.
- 22. Choi, J.; Kim, T.; Kim, Y.H. A note on the extended *q*-Bernoulli numbers and polynomials. *Adv. Stud. Contemp. Math. (Kyungshang)* **2011**, *21*, 351–354.
- 23. Kim, T. Non-Archimedean *q*-integrals associated with multiple Changhee *q*-Bernoulli polynomials. *Russ. J. Math. Phys.* **2003**, *10*, 91–98.
- 24. Polya, G.; Szego, G. *Problems and Theorems in Analysis I*; Springer Verlag: Berlin/Heidelberg, Germany, 1973.
- 25. Rassias, T.M.; Srivastava, H.M. Some classes of infinite series associated with the Riemann zeta and polygamma functions and generalized harmonic numbers. *Appl. Math. Comput.* **2002**, *131*, 593–605.
- 26. Simsek, Y. q-Analogue of the twisted *l*-series and q-twisted Euler numbers. J. Number Theory **2005**, 110, 267–278.
- 27. Simsek, Y. Twisted (h, q)-Bernoulli numbers and polynomials related to twisted (h, q)-zeta function and *L*-function. *J. Math. Anal. Appl.* **2006**, *324*, 790–804.
- 28. Srivastava, H.M.; Kim, T.; Simsek, Y. *q*-Bernoulli numbers and polynomials associated with multiple *q*-zeta functions and basic *L*-series. *Russ. J. Math. Phys.* **2005**, *12*, 241–268.

© 2013 by the authors; licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution license (http://creativecommons.org/licenses/by/3.0/).